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1.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘Unbelonging and DEJECTED, he was cast away from the team’?

(a) Unagreeable
(b) Weak

(¢) Crestfallen
(d) Loathsome

2.
Which one of the following is the synonym of the word written in capital letters in the

sentence ‘She was the most ENTERPRISING girl in our entire batch, which made her special
’?

(a) Cherishing

(b) Being entertaining
(c) Taking initiative
(d) Bewildering

3.
Which one of the following is the synonym of the word written in capital letters in the
sentence ‘The FICTITIOUS characters of Cartoon Network engage the kids these days more
than the real time characters in their lives ’?

(a) Docile

(b) Domesticated

(c) Harmless

(d) Imaginary

4.
Which one of the following is the antonym of the word written in capital letters in the
sentence ‘The police DIVULGED the identity of the suspect’?

(a) Revealed

(b) Concealed

(c) Refused

(d) Communicated

5.
Which one of the following is the antonym of the word written in capital letters in the
sentence ‘He suffered INTERMINABLE pain in the hands of his master’?

(a) Ephemeral

(b) Continuous

(c) Minimalistic

(d) Friendly
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6.
Which one of the following is the antonym of the word written in capital letters in the
sentence ‘The biggest flaw of young people today is the spirit of INTOLERANCE’?

(a) Liberty

(b) Pride

(c) Overbearing

(d) Forbearance

7.
Which one of the following parts of the sentence ‘He will be cured from his illness’ has an
error?

(a) He will be

(b) cured from

(c) his illness

(d) no error

8.
Which one of the following parts of the sentence ‘He is confident to win the election since he
has a large number of supporters working for him’ has an error?

(a) He is confident to win the election

(b) since he has a large number of supporters

(c) working for him

(d) no error

9.
Which one of the following parts of the sentence ‘The police couldn’t control the mob so the
troops were called up’ has an error?

(a) The police couldn’t

(b) control the mob so the troops

(c) were called up

(d) no error

10.
Which one of the following words can be used as a substitute for the phrase ‘To utter
profane language against God or anything holy’?

(a) Accusation

(b) Blasphemous

(c) Assertion

(d) Abysmal

11.
Which one of the following can be used as a substitute for the words in the sentence written
in capital letters, ‘He IS BROKE by the end of the year’?

(a) Left with no money

(b) Left broken

(c) Broke down

(d) Doing a break through
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12.
Which one of the following is the appropriate question tag in the sentence ‘They arrived this
morning, '?

(a) haven’t they?
(b) didn’t they?
(c) have they?
(d) did they?

13.
Which one of the following is the appropriate question tag in the sentence ‘You are all
capable of writing this essay, ’?

(a) isn'tit?

(b) can’t you?
(c) aren’tyou?
(d) shall you?

14.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence
‘My patience and I asked him to get out of my room (was exhausted)’?

(a) gave up

(b) gave out
(c) gave into
(d) dropped off

15.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence
‘All the irrigation projects for lack of funds (failed)’?

(a) fell out

(b) fell through

(c) fell into

(d) fell about

16.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence
‘The car by the road side because of mechanical trouble (stopped)’?

(a) drew up

(b) brought up
(c) stood up
(d) broke up

17.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence
‘All these laws must be , because they are against the interest of the people

(abolished)’?
(a) taken away
(b) done away with
(c) done up with
(d) crushed down
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18.
Which one of the following prepositions may be used in the blank spaces in the sentence ‘1
have married Mary the teeth of my parent’s disapproval’?

(a) by

(b) between

(c) with

(d) in

19.
Which one of the following can be used as a substitute for the words in the sentence written
in capital letters, ‘He is BY AND LARGE fair in his dealings’?

(a) always

(b) in very important matters

(c) in general

(d) exceedingly

20.
Which one of the following can be used as a substitute for the words in the sentence written
in capital letters, ‘The glory of Harshad Mehta was a NINE DAYS” WONDER’?

(a) only for nine days

(b) most wonderful

(c) very interesting

(d) ashort lived glory

21.
Ifa, b, c, d, e, fand g are seven positive integers such that abcd + efg is odd. At least how
many integers among the given seven integers should be odd?

(a) 1

(b) 2

(c)3

(d) 4

I a,b,c,d e, f Tg AT UedlcA® UITH & AR abed + efg WA §, aF 57 @10
quiterl 3 & FH ¥ FA forder qoiter vt gt =R 2

(a) 1

(b) 2

(c) 3
(d) 4
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22.
A test paper has 50 questions. A student scores 1 mark for a correct answer, -1/3 for a wrong
answer and -1/6 for not attempting a question. If the net score of a student is 32, the number
of questions answered wrongly by that student CANNOT be less than:

(a) 3

(b) 6

©9

(d) 12

T gOeT 9T &F 50 e &1 FE 3ok F O et # 1 3% Rearar §, ged
3ceR & fod -1/3 3 3R 9o 8 Weel o el W -1/6 3k el &1 I wh
facamelt & qeer i 32 § d 38 @R R A 6T Ier, fFad wA A
g gohd ?

(a) 3
(b) 6
©9
() 12

23.
A bag contains balls of seven different colours. What is the least number of balls that must be
drawn to ensure that there are five balls of the same colour if every draw is random?

(a) 21

(b) 28

(c) 29

(d) 35

U I F AT faffiest @ dr i @ gs 81 I 93 IR g Iefod T @
foeprell ST, AT ferell Se drell 36l & a8 ~geidd @&d1 &1 g, S g
giAfRad &Y f& e 3 vh-gameT v g 2

(a) 21

(b) 28

() 29

(d) 35

24,
Find the odd one out in the following terms related to computer.
(a) Key Board
(b) C ++
(c) CPU
(d) RAM
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Arfai@d qal # 4, Hrcged ¥ |@aftd [avd 9g aarse|
(a) Fr-a1S
(b) C ++
(¢) CPU
(d) RAM

25.
Find the odd one out in the following terms.
(a) Money order
(b) Demand draft
(c) Cheque
(d) Telegram

ffaf@a 1ef # & Jvw ag IasT
(a) FIT 3T (UGN
(b) f3ATS gIFe (AT 3Te)
(c) I
(d) el (AR)

26.
Three spots in a desert are marked as O, N and E. Spot N is 1 km north of spot O and spot E
is 2 km east of spot O. Ram and Shyam start travelling at the same time with the same speed
in straight lines. Shyam starts from spot E towards spot O. Ram starts from spot N. They
reach a spot D at the same time. What is the distance of D from O?

(a) 550m

(b) 650m

(c) 750m

(d) 850m

T IAEaT # AT Tt O, N 7 E Rfgaa e aw | e N, Ress 0 & 1
fpfl. SccR A T ReA E, Mead O @ 2 fopall. q@ & 81 TH 3R I H & T &
AT 9T TS & It & At @it & amEr urest ) e e E @ e O
Fr RE ToIdT gl TH ed N T ToledT IRFH HLAT ¢l T gl [ged D W Th &l

BSPAR) Cl'\rqg'til D #r O & & gl 87
(2) 550m
(b) 650m
(c) 750m
(d) 850m
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27.
Vehicles X and Y take six and eight hours respectively to travel from Delhi to Jaipur. A
person travelled from Delhi to Jaipur in 7 hours (without taking any halt) using vehicle X for
some portion and Y for the remaining. What is the percentage of distance travelled by the
person in Y?

(a) 50%

(b) 55%

(c) 60%

(d) 70%

aiget X 3R Y feeell & SR S & FAw: 6 AR 8 6 ofd &l T Ffad
el & SOqT i ImEr 7 6 A qf A (e Sgd &), IES AET BT FS AT
argel XﬁawgmmamY@aw%mlwwﬁ?rﬁwa@w
fehctetr gfcerd arget Y & qur fahar?

(a) 50%

(b) 55%

(c) 60%
(d) 70%

28.
There are four types of pens. One pen of each type costs Rs. 10, Rs. 15, Rs. 20 and Rs. 25
respectively. If a person bought equal number of pens of each of the four types spending Rs.
910, then how many pens did he buy?

(a) 40

(b) 52

(c) 60

(d) 72

gl IR YR T FHotd g1 Iodeh Jh ol dheld I Hed HAA: 10 T, 15 T,
20 ¥9T g 25 ¥9Y g1 Ife Ue IfFd IRT UhR & held SRR J&IT H TleaH,

910 ¥UY W AT &, al 38 fohdel Fard Tl ?
(a) 40
(b) 52
(c) 60
(d) 72

29.
A box contains 100 balls of two different sizes, small and large. In all there are 40 small
balls. There are 15 small balls and 35 large balls which are red in colour. The remaining balls
are all blue. A ball is picked at random from the box. If it is a large ball, what is the
probability that it is blue?

(a) 5/7

(b) 3/5

(c) 5/12

(d) 7/12
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U S # g fafdesr AT &1 100 31 &, oIy AR I T8T Fel 40 BT g
15 BIEr @ 35 931 3¢ orel W7 Hr g1 AT FgIfr ¢ et §1 T g Aeod w9
O Bsd A @ Aeprell 315 1 I g 97 9ig §, O 38 oAl gl i FAr ke
g7

(a) 5/7
(b) 3/5
(c) 5/12
(d) 7/12

30.
Anil’s father has a daughter named Meenu, who is married to Robin. Relation of Robin’s
daughter with Anil is:

(a) Niece

(b) Nephew

(c) Cousin

(d) Grand daughter

m%mﬁw@%mmmﬁﬁ,mﬁwﬁﬁaﬁgm%l
TS b g &1 3feer @ a1 Foeeer §72

(a) HTAST/HATSIT

(b) HATS/HTAST

() TR, HET, HIE AT HOT HS/T6A

CORIGIGIGRE
31.
According to Bruce Tuckman, which one of the following is the correct group development
sequence?

(a) Storming — Norming — Forming — Performing
(b) Norming — Storming — Performing — Forming
(c) Performing — Forming — Storming — Norming
(d) Forming — Storming — Norming — Performing

T THEAT F AR, @ 7 § FT @1, 7 AEw 3w @ 82
(a) TSI — AfFHT — BIfFT — RPIfHT
(b) ANfFHT — FfFHT — RBIHT — WIfFHT
(c) IRWDITHIT — BIFFHT — FFHT — AT
(d) ®IfFeT - FAfFAT - AfFHT - RifdeT
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32.
According to the Managerial Grid Theory, country club leadership style emphasizes on:
(a) highest concern for production and people.
(b) lowest concern for production and people.
(c) highest concern for production and lowest concern for people.
(d) lowest concern for production and highest concern for people.

HAGRT OI5 28 (v s @ewrd) & 3R, Fegd Fold  aAdea Aol
frg W a1 &t 87

(a) 3cUTGeT 3R PN &l 3Tadd Hgcd

(b) 3cUTeeT 3R o9t &l fAFAad FAgea

(c) 3cATGeT I 3Tadd 3R a9 & HeAdd Aged

(d) 3cUTesT dl fAeAdd 3R @9l Fr 3TddH FAgcd

33.
Which one of the following is NOT a technique used to identify employee training needs?
(a) Superior’s report
(b) Task analysis
(c) Performance analysis
(d) Outplacement counseling services

FHARY T GRALTUT IFETRART H JgaT & fov, Fefaf@a & & 59 dedes
FT 3UATT Al THAT JATAT §7

(a) 39 RASRT F gfddesT

(b) I fagervor

(c) Torsareet fageryor

(d) IR TATAA (313¢ TolFHT) WA Jard

34.
Which one of the following is defined by Louis E Davis as ‘the specification of the contents,
methods, and relationships of jobs in order to satisfy technological and organizational
requirements as well as the social and personal requirements of the job holder’?

(a) Job specification

(b) Job design

() Job Enrichment

(d) Job Enlargement
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q58 § sfaw o Tavgaegsi & ffades, dJeufadi, 3R T @ Hersadrcas
IMaRTHABT H fd & AT & GoEaeHl & WYY HREURS H FATGH 3R

ITFAIT IMEIHATT & §7 H AATaf@a & @ T gy foaar § 2
(a) T fAfsedr
(b) I ARSI
(c) F Hacyd
(d) & IRadys
35.
Which one of the following is NOT a Big Five personality dimension as defined by Deary
and Matthews?

(a) Analyst

(b) Agreeableness

(c) Conscientiousness
(d) Neuroticism

s R Aege camr aRe®a @3 wiw (S wga) <afedea 3maEAr A,
ffaf@a & & Far a&t 8§72

OREEGAE

(b) TEATT (ThTaerd)

(c) 3eaX Taasefrerar

(d) af¥err et

36.
What is the monthly payment made to an employee, who is suspended pending enquiry,
known as?

(a) Subsistence allowance

(b) Suspension allowance

(c) Lay-off allowance

(d) Discretionary allowance

ST JIfFad &d ymﬁmmﬁﬁmmmmwﬁ
fefaf@a & & &1 Fgr 1T 82

(a) SN (IIRT) STcaT

(b) [FeFaeT Hea

(c) ST BT e

(d) FafaahT dHear (Aaer T #icd)
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37.
Douglas McGregor’s ‘the hot stove rule’ is associated with:
(a) Grievance handling.
(b) Disciplinary system.
(c) Management of safety.
(d) Handling of dust and fume.

ST AFIIR &7 'S glc Ford & (Ags) fFad gefaa &2
(a) TRIPTIT TeTer=T (AaT gegfeian)
(b) 3RIMATAS HIEUT
(c) GR&T T JaeraT
(d) YT AR YT T GHTCAT

38.
Which one of the following statements explains the term ‘discharge simpliciter’?
(a) Termination of service on grounds of lack of medical fitness
(b) Termination of service for some act of misconduct established in domestic enquiry
(c) Termination of service for loss of confidence
(d) Termination of service for participating in an illegal strike

fArfaf@ad & & g $u7 & g e Rfrfaf@er ug & wasear fAead
g2

(a) TIThcHDIT TIELT IUFFAAT & IHE & YR W JaT FATCT

(b) TR ST # Ay fhell HemR & AUR W Far FACT

(c) feara AT & MR 9 daT FATCA

(d) TFEY 33T gsdTel # $ET oY & HRUT Jar gATCT

39.
Which one of the following is NOT to be covered in the report submitted by an Enquiry
Officer after concluding the enquiry against a charge-sheeted employee?
(a) Brief narration of the case with parties present and witnesses examined
(b) Appreciation of material / significance evidence adduced on either side
(c) Inference / conclusions as to the proof or otherwise of the charges leveled against the
charge sheeted employee
(d) Recommending the quantum of punishment to be awarded, if the charge sheeted
employee is found to be guilty
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U RN (Torefie g1 I&) FAart & ey i qut & o s’ gan
SEI @I STl arell St Rl & Pefaif@d & & @41 gariase gl fohar Srer g2
(a) 39T T&it IR oifer arargl afgd AHe s d@fared faaor
(b) ToRET ot a1 a1 YEdd EHE/HAEaqUT AIETT I eI
(c) IR (Aol & Th) HHAAN & ey EMT T JRGT & Heferd
YA I7 f@eeT YR @ 3TAT g fAsehy
(d) Ife 3RVT (Trerefie fFar ) FFaRT et gr=r Jrar § ar 39 Ru =
dlel €Us & GRATOT &1 e

40.
Who among the following was / were associated with drafting the ‘Socialist Manifesto’ for
converting Capitalist Britain into a mixed economy?

(a) Karl Marx and Engels

(b) Sidney and Beatrice Webb

(c) Robert F Hoxie

(d) Selig Perlman

qeltardr foeet & AT spfcgaedr & &9 # dRafdd &= & fav gdArsEd
Yo 99 (ARreiRe Afathee!) & I%T AT # Hrafaidd #§ 8 Sla deaey
qT/A?

(a) Tl ATFT 3R Tioed

(b) &s+T Tg desy aF

(c) USE TH glerdlr

(d) AfereT oA

41.
On revocation of any registration of an establishment by the Registering Officer under
Section 8 of the Building and Other Construction Workers (Regulation of Employment and
Conditions of Services) Act, 1996, any person aggrieved by the order may prefer an appeal to
the Appellate Officer within how many days from the date of communication of the said
order?

(a) Forty five days

(b) Sixty days

(c) Thirty days

(d) Ninety days
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9 3R 377 Fleaamor sFer (Fase aar aar od [feaaa) sfafaas, 1996
I URT 8 & AN, Yohaor RSN garT fhar gfdsse & daiieor & fovae
& e § N3T PIS Ffod, W 3 & IR A d@ & fhdar AT &
3l 3T e ey ARSI T A bl g7

(a) Harelry fat

OKICREG

(c) I feo1

(d) FTes Tt

42,
Which one of the following authorities is NOT provided under the Building and Other
Construction Workers (Regulation of Employment and Conditions of Services) Act, 1996?
(a) Central Advisory Committee
(b) State Advisory Committee
(c) State Welfare Boards
(d) Central Welfare Boards

ffaf@a oot & & 39, daa 3R 3= gfeaaior sFer (Faee aur
a1 ad Afeae) wfRETsA, 1996 & 3ia9id =gy 31mar &7

(a) Heard A HATT

(b) T A Ffafa

(c) TS FHedIoT dI5

(d) FearT FHedToT 5

43.
Under the provisions of the Payment of Wages Act, 1936, where the employment of any
person is terminated by or on behalf of the employer the wages earned by the worker shall be
paid before the expiry of how many working day/ days from the day on which the worker’s
employment was terminated?

(a) One

(b) Two

(c) Three

(d) Four
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9 el afed &1 Yoniee e gar A 3EE IR ¥, ASey Hed
HafagA, 1936 & 3uatl & 3ddd FATCT H AT ST §, I T/ FHASBN @l
ST HIGY @ I 3 ariold H FAMCT & fod @ fohas &
fGea/ar feaat 1 gATcT & qa fhar Sreen 2

(a) Un

(b) ar

(c) it

(d) IR

44.
Under the provisions of the Payment of Wages Act, 1936, which one of the following is NOT
included under the meaning of wages?
(a) Any remuneration payable under any award or settlement between the parties or order
of a Court
(b) Any additional remuneration payable under the terms of employment
(c) Any sum to which the person employed is entitled under any scheme framed under
any law for the time being in force
(d) Any travelling allowance or the value of any travelling concession

Aol e JHfAfagA, 1936 & 3uatl & Haeid FAelqy & 3Y #, HAeAfafed &
q AT QAT BT 82
(a) TATATTT & 3T AT YeThRT & s fordr Ao ar gavsta & e
ST drs aiAfAS
(b) TaTAISTeT FT edl & 3N ST s AfaReFa TRHAS
(c) Bs TR o T, dcqdwd ygcd frdl A & 3iaeta s@g a8 fomel
AT & 3N, Ffaa safFd gheRr &
(d) SIS AT Hear AT TR AT NI &1 {od

45.
An establishment has to constitute a Safety Committee under the Building and Other
Construction Workers (Regulation of Employment and Conditions of Services) Act, 1996
ordinarily employing:

(a) Two hundred and fifty or more building workers.

(b) Five hundred or more building workers.

(c) Three hundred or more building workers.

(d) Four hundred or more building workers.
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9 3R 377 Fleaamor sFer (Fase aar aar od [feaaa) sfafaas, 1996
& 3, Teh TUSarT T FUaT WA aTfsd el grl, Sl aead: e
g

(a) & G 9O I1T 30 A™FH HaA FHAPR

(b) IrTr G AT 3T AR HIT HHPR

(c) T & I1 3T 31¥F HaA FHAPR

(d) IR &t a1 39 e HaT FARR

46.
Which one of the following is defined as ‘the act of stimulating someone or oneself to get a
desired course of action, to push the right button to get a desired result’?

(a) Commanding

(b) Directing

(c) Leadership

(d) Motivation

farafaf@a & @ 58 R cafdd 3¥ar &9 &1 aifdd FRITE & fFv I« &
T 3edicd et $r 3T, T aifed IRUIHA 9Ied &tel & foT T e garer,
& &7 & gRenfya frar o= 2
(a) THATCAA (FHHATT=S3T)
(b) fcera
() Aea
(d) 3feToT
47.
Operational Planning is:
(a) long-term planning.
(b) short-term planning.

(c) both long term and short term planning.
(d) neither long term nor short term planning.

afsrarcas e &
(a) ABEACERRI )
(b) 3TeThIfolh VSTl
(c) STl T 3TeUahiialeh ATel, el
(d) 5T ar rderrfereh, o € 3cUdlioe Arelel
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48.
Which one of the following statements is NOT correct?
(a) Flow of communication may be upward or downward
(b) Matrix organization can be used for project management
(c) Staff responsibilities are basically authoritative
(d) Decentralization refers to dispersion of decision making authority

ffofaa & & $i9 a1 FuT T@r a8l &2
(a) TR (HIYOT) T Y76 FedAE A1 HNAE g Tl &
(b) HeTH (3MUTH) HISeT Al FANT IRASTAT Gt H AT ST Hehell &
(c) HHAN ScaAieR—ca Held: TieRe §
(d) TredreoT & 3t AT o dath wReR & {dsa @ &

49.
Why is ‘line and staff” considered as the most efficient form of organization for large
business?

(a) It combines direct flow of authority with access to specialized guidance

(b) It is modeled on autocratic style of leadership

(c) Employees are encouraged to take part in framing company’s policies

(d) Every manager is responsible for the work of his / her superior

M9 FRITR & AT WMl U TI® Fl, oA HT Falitieh HRAT FI FIT HeAT
ST 87
(a) T§ TIOHPR & YceT JaEe & WY fAANpd AGfedte de uga & G
AT &
(b) TE FRFUAFATE YR & Aded T MR &
(c) FFGA HT AT TR A A HENERT g FATRAT 1 Pedrigd fowar
ST &
(d) T YaEeh 39 a6 & FT & v GFer &

50.
An organization structure in which each employee reports to both a functional or divisional
manager and to a project or group manager is called:

(a) line organization.

(b) line and staff organization.

(c) matrix organization.

(d) mechanistic organization.
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Teh TITSeT TG, S8l Ucdeh hadil Jhrd IT YHENT HAAaw aur aRarsar ar
THE HASR, cll & RUIC AT §, gl Sl g

OGIEGRILGIESNG]

(b) ST TUZ TCTh RIATSLNA

(c) Hfgrd mfargarer

(d) #AbfAew 3mfarssreeT

51.
The prime function of Financial Accounting is to:
(a) record all financial transactions.
(b) record all economic transactions.
() record, classify, and summarize business transactions and events.
(d) assist the management in performing their functions effectively.

facd J@THoT 19U FE &
(a) THT AT oot &1 3ifderE
(b) T 3T AT FT AT
(c) PRIGRT SeTeed UG T3 &1 3iffer@, gaffaxor qar g@eqor

(d) YEYeT & AT B JHTET ST § QU Al 7 3eTehl HERAAT el
52.
The system of recording transactions based on dual aspect concept is called:
(a) single entry system.
(b) double entry system.
(c) double account system.
(d) financial and management accounting system.

efauslr Heaheuar X HRd olelcd ARG Yol &l AT Fhgl SITdT g2
(a) Tehel UTATSC TOTTelr
(b) gfa-gfafee gomelr
(c) &fa-or@r worelr
(d) ™™ Td gaya /@ Yot

53.
Balance Sheet is prepared after taking into account the convention of conservatism which
leads to:

(a) understatement of assets.

(b) overstatement of assets.

() understatement of liabilities.

(d) overstatement of capital.
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JoI-TF A Hfold TERT ( Fedel NG Foadicod) Hl CAH H W@ Tl
ST &, foas aRomaa: g &

(a) TREIRT &1 FgeAferd

(b) IREURY &I 3rcgFd

(c) SoTGNT &I wgsiitad

(d) Tt T 31T

54.
When the debt becomes bad, the amount should be credited to:
(a) Bad Debts Account.
(b) Sales Account.
(©) Purchase Account.
(d) Debtor’s Account.

S ol deer@rdr g ST, ar 39 UM & fha TTd & 3relar a1fgy ?
(a) 39T ol WTAT

(b) farshr ST (T

(c) ST MIdr

(d) SeTGRT @rer

55.
The amount of salary paid in cash to Rahim should be debited to:
(a) Rahim account.
(b) Cash account.
(c) Salary account.
(d) Bank account.

WH # e dt W & 7S da & TR A g @ & a8 (3We) wer
BURY

(a) WA I

(b) ehe @raT

(c) adel @rdT

(d) d @rar
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56.
Which one of the following statements best explains ERP?
(a) It is a computer software which helps in planning of effective utilization of all
resources
(b) It is a computer software which helps in planning of effective utilization of most
essential resources
(c) It integrates financial, manufacturing and human resources on a single computer
system
(d) It is a computer software to disintegrate various types of essential resources

ffaf@a & & Fi9 a1 Fa ERP 1 310 Tuse Far & 2

(2) T§ Teh heged HAHCAIX § Sl Wl HATLAT o FHTET IUANT o Tdlater #
TETIAT T &

(b) TE Teh TS AHCAAX § Sl 3HcAd AT HATAT & FHTET IUANT &
e 7 @grar #ar &

(c) T Tacciar fafa#ATor 3R AT HEUT FI Tehel HTYX GUllell H Thidhed
T &

(d) Ig T VN S HFEARW ¢ Sl Afficd R & aRdes HHE! 6
qUH HIT §

57.
In a service organization, it is expected that demand will be 50 hours per week for next five
weeks. There is an existing backlog of 50 hours, and at the end of five weeks, the company
wants to reduce that to 20 hours. How many hours of work will be needed each week to
reduce the backlog?

(a) 55 hours

(b) 56 hours

(c) 54 hours

(d) 50 hours

Tk Qa1 G H Ig 30TRAT & & 39T 9ig geadig a& ANT 50 §¢ 9fd §edig
gl adHAT H 50 el T NS FRI (S 1) S & dUT 9T godig & 3id &
FYAT ST FH Fh 20 ¢ W AT TABT g1 SHaAlIl H FH I & AT T ASh
geaig  fohdel ©¢ T Hel HI IMaRIHdT g1l 2
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58.
Which one of the following is NOT correct in relation to the FOB (Free on Board) contract?
(a) The stores are delivered free on board the vessel at the port of shipment
(b) The prices include all charges from the seller’s factory to the delivery point
(c) FOB contracts are the same as FAS (Free Alongside Ship) contracts
(d) The cost of transit insurance has to be borne by the buyer

fFFfaf@d & & FOB (Naudd foixfeeh) dider & Heer # a1 Her 8l § ?
(a) AROT F FeW@Mg (NE 3 Rqude) W FoaaT & el H Aaadd
fa:e[eeh AR foham ST &
(b) Tarshar &1 herdl ¥ oot FU&IT g (Seedr carge) de & @l aReqy /
YHR AT 7 enfder §
(c) FOB (diqudid fo¥eleer) &fdamT, FAS (Ui o fo1:¢[eh) Hidarsit & dawe §
(d) ITRITH AT ST SIETA Shell Sl dgel dail Bll &

59.
Which one of the following is NOT a major activity of materials management?
(a) Purchasing
(b) Repairing
(c) Warehousing
(d) Quality assurance

fAmfafaa afafafeet & @ el gewe & gga afafafer war €8 8
(a) T HLAT
(b) FFAT HEAT
(c) HATANGIA (I3NEI3H)

(d) OTAcAT JATRATHeA

60.
In the context of Aggregate Planning, which one of the following is NOT a basic capacity
option?

(a) Back order

(b) Hire and lay off workers

(c) Overtime

(d) Subcontracting

TAfte AT & @9y # Reafaf@a & & #ld @1, v 3ured & Reey
el & 2

(a) S 3T

(b) FPEHFIRT I {TS T AT AR FHIHASGT

(c) FHAUR F (IR TEH)

(d) 39-Hider
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61.

In ABC system of inventory management, ‘A’ items are:
(a) 20% of total Stock Keeping Units and 80% of total inventory value.
(b) 40% of total Stock Keeping Units and 60% of total inventory value.
(c) 50% of total Stock Keeping Units and 50% of total inventory value.
(d) 75% of total Stock Keeping Units and 25% of total inventory value.

AT T (3ded) Jaere & ABC YoTlell #, ‘A’ #HS §

(a) BT Tieh P FfAe HT 20 YFARAT TUT Fel Al FaAT HoT HT 80 Ffcwere
(b) Fel Tieh TN FfAe I 40 FlAANT TUT Fol AT Gl Hed H1 60 Ffdrd
(c) el Tieh P FfoAe HT 50 YfARIT TUT Fel Al FaAT Hod HT 50 Ffcrere
(d) Fel Tl HITUT Ffae H1 75 FlAAT TAT ol AT Gl Hed 1 25 Ffdrd

62.
The practice of buying materials in a quantity exceeding current requirement but not beyond
actual foreseeable requirement is called:

(a) Speculative buying.

(b) Tender buying.

(c) Hedging.

(d) Forward buying.

A HmT A W gyl fOEH FdAEE ERdear @ U Am A, g
dEdideh 3THTAT AT @ 36 ¢, Gl GIEr STl 8, ol gl e g -

(a) 3MTATASR FI

(b) Afaer =

(c) gfstr

(d) 3 TF FI

63.
Which one of the following is the first step in the process of forecasting?
(a) Data consideration
(b) Specify time dimension
(c) Selection of forecasting method
(d) Specify objectives

qaTTATe 1 Gfshar & 9gell hed feiaf@d & & ale ar & ?
(a) 3psr W AOR
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64.
Inventory reduction, reduction in production and delivery lead time, realistic commitments
and increased efficiency are the objectives of:

(a) Material Requirements Planning.

(b) Economic Order Quantity.

(c) Master Production Schedule.

(d) Bill of Materials.

HATORLET #geAehdUl, 3cUlesl # el aur faawor (gueeh) @@g drar, gurdardr
gfaeeyar aur aftfid garar, et # ¥ fFas 3e8eT € 2

() FIHIA AT AT (FRIeT Rerarazde canfaa)

(b) 3TAF FHIGA AT (SHMATHG ST Fdlfee)

(c) ATEX HiseRIT 5Tl

(d) Torer 31T FRITeT

65.

The legal offer to purchase is:
(a) Seller’s invoice.
(b) Purchase requisition.
(c) Purchase order.
(d) Commercial offer.

%I (Tlic) Fr A+ g&dE §:
(a) faohdT &1 Aot (SAarsd)
(b) T AT 97
(c) BT AT
(d) arfoIfSgs g&daE

66.
Items or materials in partially completed condition of manufacturing are considered as:
(a) Raw materials inventory.
(b) Work-in-process inventory.
(c) Finished goods inventory.
(d) Lot size inventory.

forator r ufshar & s Pufd a6 qol awqsit ar el & #=1r AT S g?
(a) Td AT T Tl
OREIERICIGRAED
(c) IRSh A Fleh
(d) I ISR (dlc TST) Tl
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67.
Which of the following is NOT a ‘primary objective’ of materials management?
(a) Minimization of investments in material and inventory costs
(b) Assuring high inventory turnover
(c) Maintaining the continuity of supply of materials in specified quantity and quality at
economic cost
(d) Designing of product

Arifaf@a # @ @l @1, A g6 ST IATAS 36aT Tl o7
(a) AT 3R ik oRIT # A Y FFedd e
(b) T&ieh Tad Pl 3TT @A HI ATHA
(c) AT AT G & of1eTd dr JUrEcATgoT A H 3MYfd T AT Hr
AT IGAT
(d) 3c9TE, &T 3THPoTT

68.
How is additional stock of material maintained in order to meet the unanticipated increase in
demand arising out of uncontrollable factors known?

(a) Miscellaneous inventory

(b) Anticipatory inventory

(c) Safety stock / Fluctuation inventory

(d) Transportation inventory

HAGHT PRA @RI 3cUeed HAFE H HYARIT defr & qfcd & aaal &
faRea Tl W F & FAT FgT AT g?

(a) Tafaer T

(b) AT Fieh

(c) GI&TT Eleh/3AR-TGIT TCich

(d) aRagsT i

69.
According to the provisions of GFR 2005, which one of the following is NOT correct in
relation to a rate contract?
(a) It is a contract for supply of goods at specified rates during the period of the contract
(b) No quantity is specified in the contract but the contractor is bound to honour any
order placed on him during the validity of the contract
(c) Every rate contract also contains terms and conditions related to delivery apart from
the price of the goods
(d) Only Directorate General of Supplies and Disposal is authorized by the Government
of India to conclude rate contracts




Downl oaded from http://iasexanportal .con

GFR 2005 & 9raural & 38R, &I Hidel & desl # fAwfafad & & Far @er
Gl
(2) TE Tiaer i 7 Rfafise & w w@e f 3mqfd Hr @fder &
(b) T 3 P AT RS @ ¥, Rheq ShaR dar 3 3¢ R T
ford off 3Maer & HFAT N & AT

(c) T ST |iAGT A HIAT & HIAT & el 3qH e ¥ Feferd
e 3 o ofr afFafaa g &

(d) & Efger3ft & AU & foU ARG WEHR o Faer qfd aur fAuere
HETIGRTerT I & 3ifeehd foham &

70.
Which one of the following is NOT correct in relation to a Bill of Lading?
(a) It does not give title to the goods to the importer
(b) It is an undertaking by the carrier of having received the goods from the consignor
(c) It is issued by the carrier on behalf of the buyer
(d) It may be on freight payable at destination basis

el 97 (foer) o gey &, Feafoi@ad # 9 Fa1 T8 J8l 87

(a) Tg, ATATdHhdT I ATHT HI TdfAcT (CBC) A6l ol

(b) TG, dTEh GART WY F AT UIed U Sl T A9 §
(c) Tg, shdl T IR ¥ dlgesh aRT IR foRar J1ar &

(d) TE, AT IMUTRT T H1S I & Fehell &

71.

According to the provisions of GFR 2005, Directorate General of Supplies and Disposal
concludes rate contracts with only:

(a) Public Sector Undertakings.

(b) Private Sector Undertakings.

(c) Micro, Small and Medium Enterprises.

(d) Registered Suppliers.

GFR 2005 & 9aemell & 36[dR, qfcd dur fAders JgiaeRiier ganT eI-Hider i
foote, Peafaf@a & & sao g v & @y Far Jrar g2

(a) TSI &1F & 3ThAT & ATYT

(b) TS 7 & 3ThAT & TTAd

(c) g&A, oY 3R ALTH AT & qrY

(d) Sl Jerehl & ATy



Downl oaded from http://iasexanportal .con

72.

According to the provisions of GFR 2005, which one of the following statements is correct?

(a) There is no scheme for registration of Indian agents who desire to quote directly on behalf
of their foreign principals

(b) The suppliers registered with the Directorate General of Supplies and Disposal remain
registered until such registration is cancelled on account of misconduct

(c) Goods for which rate contracts have been concluded by the Directorate General of
Supplies and Disposal can be procured by a ministry / department directly from the
suppliers

(d) Rate contracts are concluded by the Directorate General of Supplies and Disposal only for
meeting special requirements of the ministries / departments

GFR 2005 & 9atell & ]8R, Peafaf@d & & @i &1 wue |er § ?

(a) V8 HARAT ToicH & USiuT & folv HIg AT =g g oif 379« fagef
HAifershl I R & AT A ad=r aed &

(b) qfct 3R foivers AgIAcererd & A Goliehd Afcierdl da deh Golidhd I@d
g€ S oeh Toh TohET GUEROT & ST Sofehl Yool foed o & fear amn
g

(c) ¥aT AT gt &x d@fdare qfd 3 Avee Agracere o AuifRa 6
TS g, TR AACr/IAHAET GarT TqAThdT3i & e HIRAT ST Fehell &

@ qfd IR v #efAcemem carr X wfaenit # At daw
FATOAI/AHATEN 1 fAfRASC EIHATINT T G e & v fmar e §

73.

Goods can be purchased without inviting quotations if the competent authority certifies that
he/she is satisfied that such goods are of requisite quality and specification and have been
purchased from a reliable supplier at a reasonable price. According to the provisions of GFR
2005, the limit up to which goods can be purchased in this manner on each occasion is:

(a) Rs 10,000

(b) Rs 15,000

(c) Rs 50,000

(d) Rs 1,00,000

IEGIT A, FIEAA AR fFU 91 @A o1 Fohar & Ffe weTd 3fAOSRT I8
TATOIT &Y foh a8 30 &g $T 31T ulacam R fafIsear & dse ¢ 3K 38
fordlt faeaea 3Mqfderdt & 3fd Hed 9 @lier =1 §1 GFR 2005 & Wiaem= &
3TER, Gedeh A W a3 A $H e H S Hebol dlell @G I AAT 2T
g2

(a) 10,000 9

(b) 15,000 FIr

(c) 50,000 ¥TTA

(d) 1,00,000 ¥IX
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74.

According to the provisions of GFR 2005, Proprietary Article Certificate is required in which
one of the following circumstances?

(a) When the value of procurement cannot be estimated

(b) For purchases made through Local Purchase Committees

(c) When a late bid is to be entertained

(d) When it is known that there is only one manufacturer of the required goods

GFR 2005 & 9@uml & 38R, fAetfaf@d & @ fea oRfeufa & gl
€] THTONRIOT HTEaRTH §72

(a) SIS TAYICT & Hed HT A gl AIMAT ST Hebell &

(b) VI T, S TAT HT TAfT & AT F ;T T8 8

(c) 3§ T TacIfed slell I TR THAT ATAT 8F

(d) SI9 Fg A 81 foh 3maedsh awq3it &1 Af#ATar saer v €1 &

75.

According to the provisions of GFR 2005, Advertised Tender Enquiry should normally be
resorted to for procurement of goods of estimated value of more than:

(a) Rs 10 lakh.

(b) Rs 15 lakh.

(c) Rs 25 lakh.

(d) Rs 75 lakh.

GFR 2005 & 9@ulll & 3(OR, fAafad fafder qode &1 @R g fRa
Hepfeld Hed ¥ 310 & @A $r et & fav foar ser @fge 2

(a) ®0 10 o

(b) ®0 15 o @

(c) ®0 25 o@

(d) ®0 75 @@

76.

According to the provisions of GFR 2005, which one of the following is correct in relation to
Performance Security?

(a) It is to be obtained only from the successful bidder

(b) It cannot be less than 25 per cent of the value of the contract

(c) It can only be in the form of an Account Payee Demand Draft

(d) It is the same as Bid Security
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GFR 2005 & 9aum=l & 38R, fasuresr gfqeqfa & @y # fefafod 7 @
T TEr g ?

(a) I§ hdd el Slell o dTel & e fohar Srar &

(b) Ig AT & Hed & 25 UlAAd & A TGl & Hehell &

(c) TE had TSIl @Il HET STFC F T H g bl &

(d) IE el g F AT &

77.

According to the provisions of GFR 2005, in the case of maintenance contracts, the advance
payment made to the contractor should NOT exceed the amount payable under the contract
for:

(a) half of the total duration of the contract.

(b) six months.

(c) three months.

(d) one month.

GFR 2005 & 9EYlll & ]8R, 3RET0T Hidemsi & AH & ShaR i fhar
ar HFA I, @fder & aed rfafEa A @ fRes v & ofr @
37T ABL BleT dTeT?

(a) GIdeT T FFYOT 3rafer &1 3men
(b) T HEW
(c) dieT #A
(d) T HEIT

78.

According to the provisions of GFR 2005, which one of the following statements is NOT

correct?

(a) Bids may be obtained in two parts for purchasing high value plant and machinery of a
complex and technical nature

(b) In the case of advertised tender enquiry, and limited tender enquiry late bids should not be
considered

(¢) Ordinarily, in the case of limited tender enquiry the number of suppliers should be
more than four

(d) The minimum time to be allowed in the case of advertised tender enquiry should normally
be three weeks from the date of notification of the tender notice



Downl oaded from http://iasexanportal .con

GFR 2005 & YEYE & 36(AR, Aefaf@d & @ @l a1 sy @@y a6l 82

(a) T SIfeer 3R Teheliehl YR & 3o0 Hed & @I 3R #AMad &1 @dig &
ar omen & Sl AT T S §

(b) faea @fder qode 3R d@fda Wfder qods & A # faefed
fAfaer (fog) W faar =gr fohar ST arfge

(c) GTAA: WifAd HATder qode & A # Yl S §&ar 9 4§ 3Hfts
glel =1fge

(d) fa=ie fafaer qodre & AW &7 ~geAdA A §Hd, FAead: Afder
AT 1 ABFAT & [&efier & ofleT TG &l Gl TIRT

79.

According to the provisions of GFR 2005, Price Variation Clause can be provided only in
long term contracts in which the delivery period extends beyond:

(a) 12 months.

(b) 18 months.

(c) 24 months.

(d) 36 months.

GFR 2005 & WIauT=ll & 38R, HAd IRAdA TS, el e dfaersit 7
veTel TR ST Hehdl &, STgl gaean &1 3afer &1 faean, oo # @ forw 3afr &
W BT & ?
(a) 12 FFEHT
(b) 18 FEIeT
(c) 24 FFgrel
(d) 36 eI

80.

According to the provisions of GFR 2005, which one of the following statements is correct?

(a) Cost plus contracts should invariably be concluded for civil works

(b) Price Variation is not admissible beyond the original contractual date of delivery if it is on
account of Force Majeure

(c) It is discretionary to include a provision for recovery of liquidated damages for default on
the part of the contractor

(d) Contracts should include provision for payment of all applicable taxes by the contractor
or the supplier
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GFR 2005 & YEYTE & 36[AR, Aefafad & @ @l ar sua @gr & 2

(a) Rfger AT st & fov aeg @ dfdecaAs orRa oRuae &1 &
fAfega & S anfge

(b) & & A et Ay & N Ao IRads T a8 ¢ ol a5 7
Hd & FROT §

(c) T€ fadsrehr & fF dfaeer &1 3R & g8 9 & fov fAoffa g &
XIS (T & forw ueh raune anfAe faar s

(d) @fderer a1 3mqfderdl garT @l We & & T & GG, Hidar
# wfrafad ger aifee

81.

GST in India stand for:

(a) Goods and Services Tax.
(b) General Sales Tax.

(c) General Services Tax.

(d) Goods and Services Tariff.

HRA # GST &1 FIT HAYT § ?

(2) I¥] UF HAT

(b) ATATT foIshT X

(c) AT AT X

(d) 9% Td HaT T[eh

82.

Hindustan Aeronautics Limited handed over the first two indigenously designed and
manufactured light combat aircraft to the Indian Air Force in 2016. What is the name of this
aircraft?

(a) Garud

(b) Marut

(c) Pushpak
(d) Tejas

fergtdel Weerd fafAcs gary Taedl &0 § dfF*Rfeqd g AfFT guw
& goh oSih TAAT HRAT argda & 2016 # €Y 90| 38 fqAWT &7 71 =1
g ?

(a) T

(b) AR

(c) Ieah

(d) doH
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83.

The Nobel Prize in Physiology or Medicine for the year 2016 was awarded to Yoshinori
Ohsumi for his discoveries:

(a) of mechanisms for autophagy.

(b) concerning a novel therapy against infections caused by roundworm parasites.

(c) of cells that constitute a positioning system in the brain.

(d) of machinery regulating vesicle traffic, a major transport system in our cell.

ay 2016 & fou R fohar faeel  3rvar fRfhcar # RS 3gaAT HT 3etehr

fra @9 & AT Adel REPR FerT har amar ar 2

(a) Tad: MfSar $r frafafer & faw

(b) IMeIHTA WNTAAT SIRT FHAU & faec AdeT Ffehcar & deer 7

(c) I FIAFIT S ARTSH A T AT (TUTI) TIEAT &Y dAT g, & AT

(d) TATTT ST 3T a1 (ARfdar ¢fther) & AIEa AT &, ST §FART ST
@I Th 9AE AR YUl g, & fow

84.

PAHAL is a scheme to:

(a) promote sports.

(b) promote employment opportunities for youth.

(c) provide subsidy on LPG through Direct Benefit Transfer.
(d) come clean on black money.

‘PAHAL (Jgd) ' Th Refai@d & ¥ fFad gefaa &2
(a) Well T WcaTgsT

(b) Zam3it & faIT VSRR & &R A Fele

(c) UcTET ST §EATRUT & &aRT LPG W ATl o

(d) FreIteT § HFA TGl

85.

Which one of the following is NOT true about International Solar Alliance?
(a) It is an international and inter-governmental organisation

(b) Most of its member-countries have good amount of sunshine

(c) It was promoted by Prime Minister of India

(d) It is an initiative of the African countries

TR R 868 & ) H Feafof@ad & @ a7 a8y 381 § 2

(a) T§ Toh ARSI 3R R-TIHRT TIoT &

(b) S8 TR T AT & I TIR AET H U (FF & Aerel) 39y §
(c) 38 AR & YUHAHA GaRT Wcafed fonar aram ar

(d) Tg 3TPIhT ST Fr U Ugel o
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86.

DDU-GKY is NOT:

(a) a part of Skill India.

(b) an initiative of Government of India to train youth in partnership with private
enterprises.

(c) aprogramme for urban youth.

(d) a programme under Aajeevika Mission.

DDU-GKY, [Feafof@d & & Far dg81 87

(a) FUAA AR (Revel FT3T) FT T a7

(b) HR TIHR I Th Ygel Sl a3l &l Aol AT 1 Aeier’y & yRIferd
T & o g

(c) I a3t & AT U HrsheA

(d) 3TSifaepr fATA & AT T HIIHA

87.
As per the Economic Survey 2016-17, growth rate of gross value added at basic prices of
which one of the following sub-sectors of industry was highest in 2016-17 (first advance
estimate)?

(a) Mining and quarrying

(b) Construction

(c) Electricity, gas, water supply, etc.

(d) Manufacturing

2016-17 & 3T FfEIT & 3TER, 3T o7 o fAeAfafad & & oy 3uat
A, AT AT W Tohel Hed Facus H Jefr T 2016-17 & Fa@ & oA
(FuH JfIA IFAT) 2

(a) Welel UF WGl (3cWoloT)

(b) faTOT

(c) foorelr, 3, S Aavor 3nfe

(d) R_fFHATT (3eures)
gi.zwada Wilson was awarded Raman Magsaysay Award for the year 2016 for:

(a) building world of genuine solidarity.

(b) asserting the inalienable right to a life of human dignity.

(c) ensuring social inclusiveness in culture.
(d) restoring faith in the rule of law.
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dordrer faedeT & a¥ 2016 1 I ALY RWERR fhafav fear mar ar 2
(a) AEATAS Thdl & HAR T fFATOT

(b) AT ITRAT & el Siiael & ARG ITABRT I TodTqOT gt
(c) TERfA & FATTSIS FATASE HT FARTT

(d) A & M H faRard v geT: gfdsar

89.
In August 2016, the President of which one of the following countries was removed from
office for breaking fiscal laws?

(a) Brazil

(b) Canada

(c) Mexico

(d) Argentina

3aTEd, 2016 H fAefaf@d & @ fhd ¢ & Tsgdfd &l AR Slofell & dIs
S & HRUT UG d gerdm 1T AT ?

(a) STSiTeT

(b) FHATST

(c)ﬂ'%\’:laff

(d) 3=

90.
In August 2016, India signed a Logistics Exchange Memorandum of Agreement (LEMOA)
with which one of the following countries that will facilitates use of each other’s bases for
repair and replenishment of supplies?

(a) Russia

(b) Afghanistan

(c) USA

(d) Japan

3, 2016 H ARA o edfoidd H & g U & Iy ARGy ey
gHESAT A9 (dAlSleedd UTaddsl HANSH 3% TMdHe) W g&aier fFr 9,
S T q@l & 35St (S9) &1 IUANT FFEAD Td YT H RS g A H
3T & e ?
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91.
August 29 is celebrated in India as National Sports Day to mark the birth anniversary of:
(a) Milkha Singh
(b) P T Usha
(c) Dhyan Chand
(d) E D Solkar

HRA H 29 39Ed & &7 ol TseT Wl fgaw & &9 &, Aafafaa & & ras
o feag & 39deT H HATIT ST § 2

(a) Tear g

(b) dr & FuT

ORZICEC

(d) § 3r Ao

92.

Which one of the following sectors contributes the maximum to the Gross Domestic Savings
of India?

(a) Public Sector

(b) Private Corporate Sector

(c) Households Sector

(d) Cooperative Sector

fFefaf@a & & &l @1 &9, #RA &1 Fohel Mol Tad & AU Faifteds Feree
AT & 2

ORICEIGEIE]

(b) el FRURT a7

(c) 78 &7 (gT38gIes HhX)

(d) HgHRT &F

93.

What does Brexit refer to?

(a) Exit of the UK from the EU

(b) Exit of Belgium from EU

(c) Exit of Brazil from BRICS

(d) Exit of Brunei from British control

sfFoic (Brexit) & a7 fAURT § 2
(a) EU & UK T ST8X 8lel

(b) EU ¥ Sfestda &1 a8 glar

(c) STToTel &T BRICS & T8 gl

(d) seis 1 fafeer faaor & argx g



Downl oaded from http://iasexanportal .con

94.
Which one of the following statements with regard to the World Economic Outlook released
by the International Monetary Fund in April 2016 is NOT correct?
(a) The baseline projection for global growth in the year 2016 is a modest 3.2 percent
(b) A number of large emerging markets including Brazil and Russia are still mired in
deep recession
(c) Growth in advanced economies is projected to go up in comparison to 2015 outcomes
(d) Growth in China and India has been broadly in line with projections, but trade growth
has slowed down noticeably

ARG HaT IV G@RT 3d4el, 2016 A SRy faea nfder qReed (de8 galarias
3M3edsh) & R H, HAeATA@d # @ ST a1 U TEr T8l ¢ 2

(a) @Y 2016 # dRTGh Fefd & AT SHegeT gl HUROT &9 § 3.2 Ffderd 8
(b)m\_rﬁ?-ra’wa%?raw_éa's‘smi‘%qmuHﬁaﬁ?@ﬁaﬁﬁ?%

(c) Joold fegaeui3it &I Jeftr 2015 & URUMAT &I Jelell A FW A &

HHTEST
STATE IS &

(d) T T HRT T Jefr eATw AN W T & AR & ¢, g s i gefd
Sea@ely &7 § O §

95.

Chief Minister of which one of the following Indian States was conferred with the
Sustainable Development Leadership Award in October 20167

(a) Arunachal Pradesh

(b) Sikkim

(c) Himachal Pradesh

(d) Uttarakhand

Jcey, 2016 # fAefafad & @ fow o7 & FgegaEd @I, aroiy (wun)
faehra Adca FFAT (FEITT  STAUAC oISl 3raTS) & Farelm arm At ?

(a) 3TTUTTST Je&er

ORGIEET]

(c) ferTaer ugar

(d) 3ccRTE@s

96.

The Headquarters of the AARDO (African Asian Rural Development Organization) is
located in:

(a) Cape Town

(b) Nairobi

(c) Jakarta

(d) New Delhi
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AARDO (31hTehel TRITS Wel SaUHC JHlIATSIR) T HEATeT Fel FUdT 87
(a) $9 T3

(b) Ry

(c) StehrdT

(d) S Teelt

97.

The Games of the XXXII Olympiad will be played in:
(a) London

(b) Paris

(c) Tokyo

(d) Moscow

XXXII a8 Wel el el SATTI?
(a) oice

(b) aRE

(c) SrFAT

(d) AT

98.

Which one among the following is NOT a sector included in the list of focus sectors in the
Make in India initiative?

(a) Thermal

(b) Nuclear

(c) Space

(d) Electronics

Ao 3o ST3AT Ugel A Ty & A G A, Pl F & Sl @ &
afFEAfIT I8 82

(a) YA

(b) =gFeIRR

(c) &

(d) gerFeriaierd
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99.

In October 2016, Union Cabinet approved amendments to the HIV and AIDS (Prevention and

Control) Bill 2014. Which one of the following statements with regard to the Bill is NOT

correct?

(a) The Bill aims to safeguard the rights of people living with HIV and affected by HIV

(b) The Bill provides right to all HIV infected or affected citizens to reside in a shared
household and enjoy the facilities of the household

(c) The Bill requires that no person shall be compelled to disclose his HIV status except with
his informed consent, and if required by a Court order

(d) The Bill lists various grounds on which discrimination against HIV positive persons and
those living with them is prohibited

e, 2016 H Heg AFASS A HIV 3R AIDS (aror vd hare ) fadae,
2014 & G HT A Feld fhar| a8as & dau & feioi@d # 4
FisT AT FUT T LI © 2

(a) Ta9TSH &1 36T HIV & WY Sifdd dAT HIV & FeTad oiei & 3Rt
I GRET Yelel HT 8

(b) fadaer @l HIV HshfAT a1 wenfad @Rl 1 A0 g H WA AT I[g
1 RT3t F1 3T Fer F AUFR JerT W @

(c) Ta¥gs & 3HIER, Fg o FfFd = HIV AT & Johe el & faT
g Agr fopar STwem {ar 39T AT FEATd &, JAT IfG 3aTd g ar
AT & 3762 GaRT

(d) 99 HIV difafed afFaal aur 39 @y @ I el & 9fd dAeHa &
gfaficy #te arel faffiest 3muRt & gheaey & §

100.

Demographic dividend refers to the potential that an economy can reap when proportion of:
(a) economically active population improves in relation to dependents.

(b) women improves in relation to men.

(c) experts improves in relation to experienced.
(d) literates improves in relation to illiterates.

STATfoRehT SITTN T Teal T THLY & § TSrdehr ot Ueh JIuaeer a9 3a7
bl & 519 FATAIAS §T 4

(a) 3P T Tolell H 3T &7 & AlhT Srdear & gefor g1

(b) TRST T Jofell H ANV Aerehl Y

(c) 31TeTd TWT aTell T Jofall H fAAW=A T gefer &

(d) fRaRt &1 JoreTr F TaRt A gefer @




Downl oaded from http://1asexanportal.con

101.

As per the provisions of the Paris Agreement (on Climate Change) adopted in December
2015, the treaty will come into force as and when:

(a) 61 countries contributing to 51% of total global emission ratify the agreement.

(b) 75 countries contributing to 55% of total global emission ratify the agreement.

(c) 55 countries contributing to 55% of total global emission ratify the agreement.

(d) 55 countries contributing to 75% of total global emission ratify the agreement.

fGaFat 2015 & 3eMeR fHT 7T "Seay 9Radd ) IRT FASar & waumEr
F AR, IE HY a9 o) gel 9 3R o &
(a) QU1 df¥aeh 3cHol 1 51 A AWEH & arel 61 SR ZaRT 3H
FASNA 1 3gEAST A A Seen
(b) 0T ARGF 3cHslr @1 55 YfArd ARG e drel 75 32 SarT 3H
FASNA &1 TEAdT A A Seen
(c) 90T ARTH 3cHolr &1 55 YfAAd ARG el drel 55 3 SR 3H
A @1 IFEAST FT e Se
(d) 90T ARTF 3cHolT F 75 GfAAd ARG el drel 55 AT SR 3H
AT @1 IFEAST FT e Se

102.

The Inter Governmental Agreement (IGA) signed by India and France in September 2016

was for:

(a) Acquisition of 18 Rafale Fighter Aircrafts in a fly-away condition and 108 to be built in
India.

(b) Acquisition of 36 Rafale fighter aircrafts.

(c) Upgrade of 36 Mirage 2000 aircrafts.

(d) Acquisition of 36 new Mirage 2000 aircrafts.

AaFaR, 2016 H AR 3R B SaRT gEAETRT HTTHRT FASNAT (IGA), [Fad

qaferd o7 ?

(a) FoITS-31d HaEAT & 18 Ihol oIS [AAT S Iicd qar 108 & R H
fSAToT Far Srer

(b) 36 Thel ofsTh T HT wIfea

(c) 36 AT 2000 fAATAT &I IeoTd HLAT

(d) 36 T fARTeT 2000 fA&AEAT & wifeq
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103.

Which one of the following countries is NOT a member of the Bay of Bengal Initiative for
Multi-Sectoral Technical and Economic Cooperation (BIMSTEC)?

(a) Bhutan

(b) Pakistan

(c) Thailand

(d) Myanmar

fFrfafea & @ #la @ < sgery aebelier aur 3fde gedler gq Serer
Qrar 98 (BIMSTEC) &l HEET oAnl ¢ ?

(a) T

(b) grferEdrsT

(c) UTFels

(d) FIHAR

104.
India has NOT been associated with which one of the following projects abroad?

(a) Construction of Delaram-Zaranj Road
(b) Construction of Salma Dam

(c) Development of the Gwadar Port

(d) Development of the Chabahar Port

&2 & dTgY FT HAFAffld # & ford IR § R FFey F& W@ § ?
(a) GoRHA-oIST Tsh &l fATOT

(b) TTAT ST FT HAATOT

(c) JdIeX dE3Ng I fashra

(d) ITEER SEIINg T fard

105.

Which one of the following countries, with which India has friendly relations, carried out a
joint military exercise with Pakistan in September 2016?

(a) Sri Lanka

(b) Afghanistan

(c) Russia

(d) United Kingdom
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AT & ANQUT @6y @l drel [AeAfaf@d # & e o ) fAder, 2016 &

106.

Satellite of which one of the following countries has NEVER been launched by Polar
Satellite Launch Vehicle (PSLV) of the Indian Space Research Organization?

(a) Russia

(b) United Kingdom

(¢) United States of America

(d) Indonesia

ARAIT  3ARET 31U o & YA 399 Y&YuT AT (PSLV) Sanl
Aefaf@a & & Fa U &7 3uare Fefr off weifaa =& v amar & 2

(a) &F

(b) FFTSes foharsA

(c) TIFA ToT HARHT

(d) SSAfT

107.

India is NEITHER a member NOR holds observer status in, which one of the following
groupings?

(a) Shanghai Cooperation Organization (SCO)

(b) Association of Southeast Asian Nations (ASEAN)

(c) Asia Cooperation Dialogue (ACD)

(d) Indian Ocean Rim Association (IORA)

fFifof@a & & 59 & g # ARd a2 ! @689 § IR 4 & e &
Rufa @fTa) # 82

(a) UYETS PIATRLA RABAT (SCO)

(b) TEITATLA 3HTh ATFUSEC TRIFT AA=d (ASEAN)

(c) TR SPITWRAT ST (ACD)

(d) 3f3TeT 3T RA TAIfATAT (IORA)
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108.

P V Sindhu won her maiden China Open Super Series Premier Badminton title in 2016. Who
among the following was defeated by her in the final?

(a) Saina Nehwal of India

(b) Ratchanok Intanon of Thailand

(c) Carolina Marin of Spain

(d) Sun Yu of China

a¥ 2016 # @ o f&Y & 39 y¥A @A =EAr o g d@e wiEw
Ysfliea Shar | 3ifae A & 3ia Pfef@a & @ 59 wifea fFar ar 2

(a) AR ST TIAT AgdTel

(b) USeis HT AR SATANA

(c)@?{ﬁwﬁ?ﬂ?ﬂﬁﬂ

(d) AT T g

109.
India jumped 19 places in the World Bank ranking in 2016 in respect of:

(a) logistics performance index.

(b) dealing with construction permit.
(c) human development index.

(d) happiness index.

ay 2016 # faeg S« Fer (Aofeon) &, 9Ra & foFg TIg & 19 TI=T &
ST IS 2

(a) oifSITECeHd fosarest Hahieh

(b) T WfFe & Sifcr

(c) Aol fdepre Ferehieh

(d) SHeAdT i (Ffoutd gs+d)

110.

As per the Arbitration and Conciliation (Amendment) Act, 2015, if the Court passes an
interim measure of protection before commencement of arbitral proceedings, then the arbitral
proceedings shall have to commence within a period specified in the said section or within
such time as the court may determine. What period is specified in the amended section?

(a) 30 days from the date of the interim order

(b) 45 days from the date of the interim order

(c) 60 days from the date of the interim order

(d) 90 days from the date of the interim order
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HIEIEYH U4 Holg (TN ) ARETA, 2015 & Hq8R, IE AR ATCIETH
SRIETEl & YRS Bl & Jd Y& g IS HARA 3URT (31ERN) IR Ll &, a«
ATETEYH AT 39 arT & fafafise gaaafer & smar ey garr AuRa
TAAEY & MR IRH e grelll Iiifd eRT & 3idefd &la @ e
fafafese § 2

(a) 37AR& 3meer fr ai@ ¥ 30 o=

(b) 3R 3 Fr IE@ T 45 e

(c) 37aRe 3meer fr aig ¥ 60 o=

(d) 3/aR# 3meer $r ad@ ¥ 90 e

111.

Which one of the following statements with regard to Indian Satellite GSAT-18 is NOT

correct?

(a) It carries 48 communication transponders in C-band, upper extended C-band and Ku band
for providing various services to the country

(b) The weight of GSAT-18 was more than 3400 kg

(c) Designed by ISRO, the satellite was launched from Sriharikota

(d) The designed in-orbit operational life of GSAT-18 is about 15 years

IR AeTSe GSAT-18 & IR H RAFAfaf@d & T HiT AT FUT T 81 & 2

(a) &7 &l TATHeT JAT UeT A & ToIv Ig, A-d8, AW TaFacss (3ed
faEaRa) d@r-ds 3N % ds 7 48 HUR (FHFEGAH) TREGIST o ST Fehell ©

(b) GSAT-18 T #IX 3,400 kg & {0 T

(c) ISRO (3&XN) ¢anrT AHfF&feud, Tg 3uag AgReper F BT AT

(d) GSAT-18 T 3fASToud IRHAT IU YT Sitded ofaTs7aT 15 ay §

112.

On which one of the following parameters that comprise the World Bank Group’s Ease of
Doing Business Index 2016, India fares the best?

(a) Enforcing contracts

(b) Resolving Insolvency

(c) Protecting Minority Investors

(d) Registering Property

faa d% @Hg & HoIo AR Fashieh (597 3% 3Za1 [Solerd sehd) 2016, H
FATIASE fohd ATIES & UR W HRA A4S T 2

(a) TTAGIAT T Jaclel

(b) Earforaraa &1 gATEeTT

(c) A UET (HTSAIREY) folderenl ahr FRaT

(d) TR T GoilehoT
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113.

Which one of the following statements is NOT correct in relation to ‘India Innovation

Index’?

(a) This is India’s first online innovation index portal

(b) This initiative will be the point of reference for all international agencies to collect India’s
up to date data points for global indices and analytic

(¢) The index will rank the Indian States on innovation

(d) The index was launched by Ministry of Skill Development and Entrepreneurship

'HRA da9ddsl gahish (ST3AT AT $399) & ded # farafaf@d & & &l

T YT Hel A8l o7

(a) I§ AR & GUA Al A3 Aa9dTed Fahish dIel §

(b) TG Tec, T FRUSET TalfAl & foIv, AR & aR 7 df¥aeh Ferepiehl vd
feeivor Faeh e ged g (SeT wrEe) & Hehelol g U Heel fig gham

(c) IE Fhieh AqUdclel W AT AT T AoNaeer

(d) TE FIehieh HIeTT [dhTH T ISTAAT HATeI EaNT RS feharm arm ar

114.
The Electoral College for the election of Vice President of India consists of Members of:
(a) both Houses of Parliament assembled at a joint meeting.
(b) both Houses of Parliament only.
(c) both Houses of Parliament and Members of all Legislative Assemblies.
(d) both Houses of Parliament and elected Members of all Legislative Assemblies.

R & 39 Tsgufd & fodaet g et aor & weedi & anffe §
(a) TYFd 4o H Thiad HHG & alail Hael

(b) ShdeT HHG & Glail Heel

(c) TIG & Gl deeT ddT Y faurer Temat & deegeror

(d) THE F ol ool Jar el et gamsit & Aaifa aeew

115.
In India, which among the following has exclusive power to make any law with respect to
any matter NOT enumerated in the Concurrent List or the State List?

(a) Supreme Court

(b) Parliament

(c) President of India

(d) Prime Minister and the Council of Ministers
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aRa #, Aeafafega & & 59, 5l AFa & S v g2 a1 gAadt g2 A
WO T8l 8, & G 7 A () et 1 3refed Afdhd gred § 2

(a) 3TUdH AT

(b) TEG

(c) ARA & Tsgufd

(d) T Td FAFIRYG

116.
The expression, ‘rarest of rare’ is associated with:
(a) sedition.
(b) death penalty.
(c) defection.
(d) detention.

TaRe & fated#d 3ficafed fhaa Tefada &2

(a) TSGE

(b) FIES

(c) Goldcol (fStherereT)
(d) FAoREEr (f3ere)

117.
Which one among the following does NOT figure in Part III of the Constitution of India?
(a) Prohibition of traffic in human beings
(b) Prohibition of employment of children in mines
(c) Provision of maternity relief
(d) To practise any profession, or to carry on any occupation, trade or business

AR & TIAYUT & H9T 111 H, Aeafaf@a & @ a1 afAa @fedfada) agi g 2

(a) AT & GeATUR (&) T Fidver

(b) Tl H STal | HHA oled FI Ifaveys

(c) HATcd HETIT &l 39

(d) S A FAT, YA FIS 3TSNIH, SR AT FRITT
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118.
Which one of the following statements regarding the powers and functions of the Speaker of
Lok Sabha is NOT correct?
(@) Consent of the Speaker is necessary for moving a motion to adjourn the business of
Lok Sabha for purpose of discussing a definite matter of public importance
(b) Consent of the Speaker is necessary for the presentation of petitions to the House for
calling attention of a Minister to any matter of urgent public importance
(c) The Speaker has the power to decide on any dispute relating to the election of
Members of Lok Sabha
(d) Consent of the Speaker is necessary for a Member to make a personal explanation in
the House

ARTAT 7T H ATFTAT dUT FRT & TEY H AeATdd H T DA AT YA
T A6l & 2
(a) g & fhdl ARG ATHT W IR T & 3eeT A ollhqs m 6
HRAATET T TATAN A TGl GEATT T ol g IETaT HT FeATd
3MaeTH &
(b) fRIT T TS ok AGcd & HAHS W Tcd H HIAT FI AT YT Flal
et 3Mdcet o TEJd I & v 3reuey & FgAfd 3Maeds g
(c) SIhTHT & Tedl & faaraa & Fafad fhar o faare &1 Ao e &r
AfFT 3reTeT & IIod §
(d) H&A #H, Ueh HGET GART TiFdIld TSSOl f&U I & fow 3redsr &

ggAfa 39T+ §

119.
The Supreme Court judgment in Shreya Singhal Vs. Union of India (2015) case pertained to:
(a) Section 66 A of the Information Technology Act 2000.
(b) Section 377 of IPC.
(c) Section 124 A of IPC.
(d) Article 19 of the Constitution of India.

F7 e 97 ART TG (2015) & AHAS H Hafed ey e@ny fear sm=r
o fredr gafaa & 2

(a) I ST rfafez#, 2000 &I &RT 66 A
(b) IPC &FT 4T 377

(c) IPC &7 &IRT 124 A

(d) ¥R & HAUT T 3HTeoe 19



Downl oaded from http://iasexanportal .con

120.
Which one of the following statements is NOT correct about Local Government in India?

(a) Local Government is a State subject under the 7" Schedule of the Constitution of

India
(b) Article 42 of the Constitution of India provides for the organization of Village

Panchayats and Urban Self Government
(c) The 73" Amendment to the Constitution of India provided for Panchayati Raj

Institutions
(d) Part IX of the Constitution of India relating to Panchayats was inserted by the 73"

Constitutional Amendment

IRA A UET WA F TR A FaRf@a d a sla ar a9 g agi g 2
(a) TUET THR, R & HAUT HI HAdT AT & HANd Tod N AT §

(b) HRA & HIAYT HT e 42, TAH T TAT A FGRAHA & ST &h
TRHE

(c) ARG & TIAUTT FT 737 T, TARIAT IT FEAAT & R H §

(d) ¥R & TAUT &1 0T IX, S 99 adl & §9fad &, 733 gfaus g
GaRT Jd-EUTad fohar arm ar



